Review Working sheet 2

1. (Critical points, Taylor expansion, and 2nd derivative test)
(a) Find the Taylor expansion of f(x,y) = 2v=v" at (1,1) up to second
order.
fo=2""Y"2, f, = 2°7Y 2(=2y), for = 2°7¥ (In2)2, fo, = 2°7¥ (In2)2(~2y)
and f,, = 2"V (In2)24y? — 2(In2)2°~V"
FO) =20 = 1, £(11) = 2, £,(1,1) = —2n2, fru(1,1) = (In2)%
fay(1,1) = =2(In2)?, and f,,(1,1) = 4(In2)? — 2In2
The Taylor expansion(f ~ f(1,1)+f.(1,1)Az+f, (1, 1)Ay+%fm(1, 1)Az?+
Sy (L) AZAY + 5 fy (1, 1) Ay?) is

f(z,y) = 14+In2(z—1)—21In 2(y—1)+%(ln 2)%(x—1)2—-2(In2)*(z—1)(y—1)+(2(In 2)*~1In 2) (y—1)?

(b) Find all critical points and apply the 2nd derivative test for the fol-
lowing:
fx,y) = 8z* + y* — ay?

» =322 —y?> =0, f, =4y> — 22y =0
The second equation: y = 0 or z = 2y%. If y = 0, = 0 and we have a
critical point (0,0). If z = 292, we have 32 8% y® — y?> = 0. Then, y = 0
ory = +1/(256)'/% = 4+1/4. This gives (0,0) , (1/8,1/4) and (1/8, —1/4).
In all, we have (0,0), (1/8,+1/4)
fox = 96I2, ny = =2y, fyy = 1292 — 2x.
At (0,0), the three numbers are 0, 0, 0 respectively. The 2nd derivative test
is inconclusive as the form is semidefinite. However, if you look around
(0,0), you'll see both negative value and positive value since around origin,
the main term is —zy?. Hence, this should be kind of saddle.
At (1/8,1/4), the three numbers are 3/2, —1/2,1/2. Then, we have fy, fyy—
fy >0, fzz > 0, this is a local min.
At (1/8,—1/4), the three numbers are 3/2,1/2,1/2. fuofyy — f2, > 0,
fzz > 0. It’s still a local min.

2. (Optimization with constraint, Lagrange multiplier)

(a). Find all the points on the surface zy — 22 + 1 = 0 that are closest to
the origin.

Let (z,vy, z) be a point on the surface. Then the distance is /a2 + y2 + 22.
We choose f(x,y, z) = 22 +y%+ 22 to minimize with constraint g(z,y, z) =
ry—22+1=0

Vg # 0 on the surface, because otherwise the constraint can’t be satisfied.

Hence, we have
Vf=AVg ¢g=0



We have equations 2z = \y, 2y = Az, 22 = A\(=22), 7y — 22 +1=0

By the first equation, z = A\y/2. Plugging this into the second equation,
we have 2y = A\?y/2. We have y(2 — A\?/2) = 0.

If y = 0, then x = 0. The first two equations are dealt with. Plugging
them into the last equation, we get z = +1. The third equation tells us
that A = —1. Hence, (0,0, 41) are the constraint critical points.

If A = £2. The third equation tells us that z = 0. If A =2, z = y and the
last equation can’t be satisfied. Hence A\ = —2. Then, z = —y,y = —=.
The first two equations are dealt with. The last equation then tells us
that z = 1,y = —1 or x = —1,y = 1. Hence we have found two points
(1,—1,0) and (—1,1,0)

Plugging these points into f, we see that f(0,0,4+1) =1 and f(1,—1,0) =
2, f(=1,1,0) = 2. Now let’s look at the function. As you see, when you go
far on the surface, f becomes large. This means there must be minimum
in the middle. Hence (0,0,+1) must be the minimum points. However,
there are no global maximum points. (1,—1,0) and (—1,1,0) are not
global max points.

(b). Find the minimum value of f(x,y,2) = zyz under the constraint
22+ 2% + 22 =1.

Before calculation, you notice that the surface is closed and bounded.
There must be max and min. Therefore, we can find the min by solving
Lagrange multiplier equations.

On the surface, Vg # 0. Then, the only possibility is that Vf = AVyg, g =
1 where g(z,y, z) = 22 + 2y? + 22

Then, you have four equations, yz = A2z, 2z = My, vy = X2z, 2% + 2y +
2% = 1. Multiplying the first equation with x, the second with y, the third
with z, we have A\2z2 = Mgy? = A\222, or Az? = A2y = \2?

If A =0, then yz = 0,2z = 0,2y = 0. There are 6 points. However, we
see there’s no need to solve these points as the value of f at these points
must be f = xyz = 0.

If A\ # 0, we have 22 = 2y? = 22. Hence 2? = 1/3,2%2 = 1/3,2y? =
1/3. Notice we care the value only. We see that (ryz)? = 1/54 and
xyz = —1/4/54 is the minimum. We see that this solution is not fake as
r = —1/V3,y = —1/V6,2z = —1//3 satisfies the requirement. This is
of course smaller than 0 as we get above. Hence the minimum value is
—1//54

(€). f(z,y,2) = (¥ —1)® + (y — 2)% + 22. Find the largest and smallest
value of f inside z2 + y? + 22 < 16.

Notice the domain is closed and bounded. The max and min must exist.

For interior extremum, we have Vf =0or 2(z—1) = 0,2(y—2) = 0,2z =
0. We have one point (1,2,0). We check that 12 + 22 + 0% = 5 < 16.



This is in fact an interior extremum. You can use 2nd derivative test to
find the local behavior but we need the global extremum here and we just
regard (1,2,0) as the candidates without doing 2nd derivative test.

For boundary extremum, we should have g(x,y,2) = 22 + 3? + 2% = 16.
On the constraint, Vg # 0. Hence we have Vf = AVg,g = 16

2(x — 1) = X2z, 2(y — 2) = A2y, 2z = A2z, 22 + y? + 22 = 16. Look at
the third equation, if A = 0, we get (1,2,0) which of course is not on the
boundary. Hence A # 0 and z =0

From the first two equations, z = 1/(1 —\),y = 2/(1 — \). Hence y = 2.
Then, 22 + y2 + 02 = 16 tells you that z = +4/4/5. Hence, we have two
other candidates (4/v/5,8//5,0) and (—4/v/5, —8//5,0)

Provided the existence of max/min, we just need to compute the values at
these points. f(1,2,0) =0, 0 < f(4/v/5,8/v/5,0) < f(—4/v/5,—8//5,0).
Hence, 0 is the global minimum and f(—4/v/5,—8/1/5,0) is the global
max.

(d). Let f(z,y) = x+y—zy. Let D be the region bounded by z =0,y =
0,2 + 2y = 4. Find the maximum and minimum values of f on D.

Also the region is bounded and closed. There must be max/min.

For interior, Vf = (1 —y,1 —2) = 0. We get (1,1). This is one candi-
date(it’s a saddle actually).

Consider the boundary. We have three pieces. For x = 0,0 <y < 2. The
function is reduced to 0 + y — 0 = y. Hence on this piece, the smallest
value is obtained at (0,0) which is 0 and the largest is obtained at (0, 2)
which is 2. For 0 < z < 4,y = 0, the function is reduced to x. Again,
the minimum is 0 at (0,0) and the maximum is 4 at (4,0); For the piece
x+2y =4,0 <z <4, the function is reduced to z+(4—x) /2 —x(4—x)/2.
You see that the minimum value should be at = 3/2,y = 5/4 and the
largest value is at (4,0).

Anyway, combining all these together, we see that (0,0) is the global
minimum and (4, 0) is the global max.

You can use Lagrange multiplier for each piece which is more complicated
i this problem.

. (Double integral, iterated integral)
(a). Compute [[, Va3 + 1dAwhere D = {(z,y) : 0 <y < 1,\/y <z <1}

Writing in iterated integral form:

1 1
/ / Va? + ldxdy
0o Jym



That is not suitable for integration. We change the order and have

1 pa? 1
2
// \/a:3+1dyda::/ :1:2\/1:3+1dx:§(2\/§—1)
o Jo 0

(b). Compute

1 1
/ / y(32% 4+ 1)Y3dxdy
0 Jy2?

Change the order:

1 T 1 .
/ / y(@a® + 1) dydr = / sa(32® + 1) 3de = — (4% — 1)
0o 0 2 16

(c). Evaluate [[ -#%7dA where R is the region bounded by y = 0,y =

2
1 22 y 1 CC4/2
// ?dydx:/ dx = (In2)/10

o x =1
. (Double Integrals in polar coordinates)

(a). Write the following curves and functions in polar coordinates:

o 22+ (y—a)? =a?

o 3 +ay’ —y=0

o fla,y)=22%+y* —a
The first: 7 = 2asinf. The second is > = tan #(think about why we can
divide cos ). The third is F(r,0) = r? +r?cos? 6 — r cos @
(b). Find the volume of the region bounded by z = 2% + 32 and z = y.
The integral is [}, (y— 22 —y?)dA where the boundary of D is determined
by 2® +y* =y
From here, you see that polar coordinates are more convenient: The
boundary in polar is 72 = rsinf or r = sinf. You see that from § = 0 to
6 = 7, you can trace the boundary once(You set = 0 and find § = 0, 7).

The region can be written as {0 < 07,0 < r < sinf}. dA = rdrdf. The
integrand is rsin@ — r2. Hence the integral is

T sin 6 T
1
/ / (rsinf — r?)rdrdd = — / sin? 9df
JO JO 12 JO



To evaluate this integral, you recall double angle formula: sin?6 = (1-—
cos26)/2 and the integral is:

1 T
s s (1 —2cos 20 + cos?(20))df = ;—2

where the double angle formula is used again(cos? 20 = (1 + cos46)/2).

(c). Let R={(z,y): (x —1)? +y*> < 1,22 + (y — 1)?> < 1}. Compute the
volume of under f(z,y) = x and above R.

The region can be written in polar as {0 < 0 < 7/4,0 < r < 2sin6}
together with {w/4 < 6 < 7/2,0 < r < 2cosf}. The volume [[,zdA
then can be written as

w/4 p2sinf w/2 p2cosf
/ / r cos 0(rdrdf) + / / r cos 0(rdrdd)
0 0 /4 JO

I think you can finish evaluating the integral.. For the first, use u-sub
u = sin f. The second piece, use double angle formula again.

(d). Compute fol IN v sin(z? + y?)dxdy

In polar: the region is {0 < 6 < 7/2,0 <r < 1}. Hence the integral is

/2 pl T
/ / sin(r?)rdrdd = —(1 — cos 1)
0 0 4

. (Triple integrals)

(a). Evaluate [[[ e**¥*2dV over the region {(z,y,2): 0 <2 <1,0<y <
z,0 <z <lIny}.

1 T Iny 1 T
/ / / et dadyde = / / (y — De*tdydx
o Jo Jo o Jo

_ ' — 1D tY _ oY) T dp = 11-_ e2% eflde = . ..
= [w=vetr — el = [ (@ -2+ 20

(b). Evaluate [[[,zydV where D is the region bounded by y = 22,z =
Y ,z=0z=x+y

1,V pxty 1 VT
/ / / rydzdydr = / / zy(x + y)dydx
JO Jzx2 0 0 2
1

1 1
:/ 2 (z — 2t + Sa(@®? — 2%)dz = ...
0 02 3



(¢). Compute the integral of f(z,y,z) = = over the region 0 < y <
l,z,2>0,x4+2<2

The region {(z,9,2): 0<y<1,0<x<2,0<2<2—x}.

1 2 22 2
/ / / xdzdxdy = / x(2—xz)dr =...
o Jo Jo 0

(d). A cube has edge length 2 and density equals the square of the distance
from one specific edge. Find the total mass and the center of mass.

2 2 42
M = / / / (y* + 2*)dxdydz
o Jo Jo
1 /2 2 g2
, x(y? + 2%)dzdydz
ik

1 2 2 2
Ye = 75 / / / y(y2 + 22>dede = Zc
M 0 0 0

. (Triple integrals in cylindrical/spherical coordinates)

(a). (hw #14)Evaluate [[[ 22dV over the interior of the cylinder z2+y? =
1 between z =0 and z = 5.

LTe =

Use cylindrical coordinates. 22 = r?sin? 0. Regionis 0 < 2 <5,0<60 <
21,0 <r < 1. dV = rdrdfdz. The integral is

5 p2m pl
/ / / r2 sin? Ordrdfdz
o Jo 0

(b). (hw #19) Evaluate [[[ \/22 + y2dV over the interior of 22 +y?+2% =
4

Us spherical coordinates. dV = p? sin ¢pdpdpdo

2 ™ 27 2 ™ 27
/ / / \/ p? sin? ¢p? sin pdOdpdp = / / / p°sin? pdfdodp
o Jo Jo o Jo Jo

(c). (hw #17) Evaluate [[[yzdV over the region in the first octant inside
22 + 9% — 22 = 0 and under 22 + y? + 2% = 4.



Use cylindrical coordinates. 72 — 2rcos = 0 or r = 2cosf. The second
equation is 72 + z2 = 4. The integral is

/2 p2cosb p4A—r?
/ / / (rsin ) z[rdzdrdd]
0 0 0



